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Cuadro 15 (continuación 6)/Table 15 (continued 6)
Nicaragua: tablas abreviadas de mortalidada

Nicaragua: abridged life tables 
a

2010

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.023 0.022  100 000  2 244  98 043 0.976 b 7 071 447 70.7
1 4 0.001 0.004  97 756   425  389 969 0.996 c 6 973 403 71.3
5 5 0.001 0.003  97 330   272  485 972 0.997 6 583 434 67.6

10 5 0.001 0.003  97 058   279  484 595 0.994 6 097 462 62.8
15 5 0.002 0.008  96 780   803  481 891 0.990 5 612 867 58.0
20 5 0.002 0.012  95 977  1 160  476 986 0.987 5 130 976 53.5
25 5 0.003 0.014  94 817  1 328  470 766 0.985 4 653 990 49.1
30 5 0.003 0.017  93 489  1 568  463 526 0.981 4 183 224 44.7
35 5 0.004 0.020  91 921  1 878  454 912 0.977 3 719 698 40.5
40 5 0.005 0.025  90 043  2 234  444 631 0.972 3 264 786 36.3
45 5 0.006 0.031  87 809  2 758  432 150 0.963 2 820 155 32.1
50 5 0.009 0.042  85 051  3 561  416 352 0.951 2 388 005 28.1
55 5 0.012 0.057  81 490  4 641  395 846 0.933 1 971 653 24.2
60 5 0.016 0.077  76 849  5 937  369 401 0.907 1 575 807 20.5
65 5 0.023 0.111  70 912  7 861  334 905 0.868 1 206 406 17.0
70 5 0.034 0.156  63 051  9 851  290 625 0.812  871 501 13.8
75 5 0.051 0.225  53 199  11 991  236 019 0.721  580 876 10.9
80 5 0.084 0.349  41 208  14 380  170 092 0.601  344 857 8.4
85 5 0.126 0.475  26 829  12 757  102 251 0.481  174 764 6.5
90 5 0.177 0.601  14 072  8 453  49 227 0.368  72 513 5.2
95 5 0.237 0.711  5 619  3 993  18 113 0.222 d  23 286 4.1

100 ω 0.314 1.000  1 626  1 626  5 172  5 172 3.2
Mujeres/Females

0 1 0.017 0.017  100 000  1 707  98 540 0.982 b 7 683 185 76.8
1 4 0.001 0.004  98 293   385  392 225 0.996 c 7 584 645 77.2
5 5 0.000 0.002  97 908   218  488 997 0.998 7 192 420 73.5

10 5 0.000 0.002  97 691   212  487 922 0.997 6 703 423 68.6
15 5 0.001 0.004  97 478   392  486 412 0.996 6 215 501 63.8
20 5 0.001 0.004  97 087   409  484 410 0.995 5 729 088 59.0
25 5 0.001 0.005  96 677   487  482 169 0.994 5 244 678 54.2
30 5 0.001 0.006  96 190   585  479 488 0.993 4 762 510 49.5
35 5 0.002 0.009  95 605   831  475 948 0.990 4 283 021 44.8
40 5 0.002 0.012  94 774  1 150  470 997 0.986 3 807 073 40.2
45 5 0.003 0.017  93 624  1 572  464 192 0.979 3 336 076 35.6
50 5 0.005 0.025  92 052  2 338  454 416 0.969 2 871 884 31.2
55 5 0.008 0.038  89 714  3 367  440 152 0.953 2 417 468 26.9
60 5 0.012 0.057  86 347  4 958  419 338 0.930 1 977 316 22.9
65 5 0.018 0.084  81 388  6 862  389 786 0.898 1 557 979 19.1
70 5 0.026 0.122  74 526  9 106  349 865 0.852 1 168 193 15.7
75 5 0.039 0.178  65 420  11 623  298 042 0.774  818 328 12.5
80 5 0.066 0.285  53 797  15 337  230 643 0.666  520 286 9.7
85 5 0.101 0.402  38 460  15 453  153 667 0.552  289 643 7.5
90 5 0.145 0.526  23 007  12 100  84 784 0.436  135 975 5.9
95 5 0.198 0.643  10 907  7 014  36 999 0.277 d  51 191 4.7

100 ω 0.274 1.000  3 893  3 893  14 192  14 192 3.6

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


